Counting Neighbours Make a new method

public wvoid neighbours ()
{

for (int 1 = 0 ; 1 < row ; 1i++)
{
for (int 7 = 0 ; 7 < col ; J++)

{

if (b [1]1 [71 !'= 10)
{

int count = 0;

Make them ifs if (1 -1 >=04&& J - 1>=04&& b [1 - 1] [] - 11 == 10)
' count++;
do not use else if (i - 1> 0 && b [i - 1] [§] == 10)
ifs count++;
if (1 -1 >0 && J +1 < col & b [1 - 11 [] + 11 == 10)
count++;

//add other directions here

b [1] []] = count;
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Add all of the directions

public void neighbours ()
{

for (int 1 = 0 ; i < row ; i++)
{
for (int j = 0

{

;] < col ; Jt+)
if (b [i1 [31 !'= 10)
{
int count = 0;
if (i -1>=068& J-1>=04&& b [i-1] [§ - 1] == 10)
count++;
if (1 -1>=0&& b [1 - 1] [3] == 10)
count++;
if (1 - 1>=04&& J +1 <col & b [1 - 1] []J + 1] == 10)
count++;
r/add other directions here
b [1]1 [J]1 = count;
}
1
}
)
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